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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i1)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A - Question numbers 1 to 20 are Multiple Choice type

questions. Each question carries 1 mark.

Section B — Question numbers 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C - Question numbers 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question numbers 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question numbers 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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SECTION - A
(Multiple Choice Questions)

(20 x 1 = 20)

1. Match Column-I with Column-II and choose the correct option from the
following : 1
Column-I Column-II
(Subject List in the Indian Constitution) (Subject)
L Union List a. Trade Union
II. State List b. Banking
III.  Concurrent List C. Police
IV. Residuary List d. Internet
Options:
I IT 11 v
(A) d a c
B b
(®)) a b d c
(D) ¢ d b a
2.  Read the following informations and identify the crop. 1
o It is the staple food crop of majority of people in India.
o India is the second largest producer of this crop.
) It 1s a Kharif crop.
o It requires high humidity with 100 cm of annual rainfall.
Crops:
(A) Ragi
(B) Bajra
(C) Wheat
(D) Rice
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3. Taforfed o & F - f=m yomeht Faem w8 2
(A) It STETA o rad § qfty Y f=ms & |
B) o= % fore <t wmn 8§ w1 39 R |
(C) it = urht feprem |
(D) st fgu fierd yomreht =1 3wl 6T |

4. YRR TER 3eeH | gefed f=foRaa sesti s sespuar et $ifve 31
&l farshen o1 =m Il |

I. TS 9l ol e
II. WA TR i ol ATRR AT

II1. meft-3fe awgiar

IV. gt =t uEifireeH & s

forepem

(A) 1L III, I 3R IV B) 1,11, IVIRIII
(C) I,IIL II3RIV D) IV, I, I 3RI

5. Yo IR H IS Sig T g TG | Hel |’
3 thelld o TR SIRUT ol TTU 3R Tl foshed o1 == it |
[. HEHdeH AEH-YEH & HRU
I1. e AW o SR
III. SR 3R AR o HRT

IV. JUOaTEr o SATE & HR0

faey -
(A) HadA [, II3RIVER & | (B) shered 11, IT1 3R IV &t & |
(C) Haa I, IIMNIIHE B | (D) whaa I, [II 3 IV EE S |
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3. Which one of the following is the irrigation system in Meghalaya ? 1
(A) Toirrigate land only during rainy season.
(B) To use large volumes of water for irrigation.
(C) To remove water from soil.

(D) To use bamboo drip irrigation system.

4. Arrange the following events of Indian National Movement in
chronological order and choose the correct option. 1
I.  Formation of Swaraj Party
II. Lahore Session of the Indian National Congress

III. Gandhi-Irwin Pact

IV. Formation of Depressed Class Association

Options:
(A) ILIII, I and IV (B) I,II IV and III
(C) L III Il and IV (D) IV, I, IIand]I
5. ‘Buddhism emerged from eastern India and spread in several directions.’ 1

Read the following reasons for its spread and choose the correct option.

I.  Due to Cultural exchange

II.  Due to Silk route

III. Due to trade & travellers

IV. Due to European efforts

Options:

(A) Only I, IT and IV are correct. (B) Only II, IIT and IV are correct.
(C) Only I, IT and IIT are correct. (D) Only I, III and IV are correct.
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6. Trafofaa @ @ ®F-u1 v yg@ Hehass & formeet 3w et <o & T =1 A 6
forQ fepan wman @ 7

(A)  wTfieh e (B) Tedioe Ieareq

(C) Hehel BT 3cUTG (D) G T 3G

7.  Trafafga fomeai 7 9 afcoew ¥ o<1 9 <9 & mufts 329 6l ugaH
HIfST |

(A) TSR 1 ThicHeh Y TATYT HET |

(B) TN I hraiehd TSI =0 |
(C) T h HIEH(eh IR ATETh ATHAT b1 TATHT |
(D) WS 3R &Ef fadi o1 gt e |

8. =g sed feu mu g | ¥ AfRem (A) 3T RO (R) & | SHI ST ! 4ieT 3R 3T
foTu 92t farehed o1 =2 HIfTT

ANHYT (A) : T I IEA T Teh Yoo T TAcTorg- TTiua febam 7T |

R (R) : 98 Thishd 3T & o goid ohl 1a off STal a&qaii, TR 3R YSf &1 SarmH
SRR 8l |

Torehed

(A) (A) 3T (R) GFT 9l § 37 (R), (A) 1 et e 2 |

(B) (A) 31 (R) M1 w2l & wifeh (R), (A) ol T ame T 2 |
(C) (A) Tt g, g (R) T 2 |

(D) (A) T 7, =g (R) T2 =
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6. Which of the following is a key indicator used to measure a country’s

development ? 1
(A) Primary Production (B) Secondary Production
(C) Gross Domestic Product (D) Net Domestic Product

7. Identify the primary objective of power sharing arrangements in Belgium

from the following options. 1
(A) Establishing a unitary form of government.

(B) Centralized political control of government.

(C) Establishing cultural and educational matters of Dutch.

(D) Accommodating linguistic and regional interest.

8. Two statements are given below. They are Assertion (A) and Reason (R).

Read both statements and choose the correct option : 1
Assertion (A) : On Prussian initiative “Zolleverin’ Custom Union was formed.

Reason (R) : It was to create unified economic territory allowing the

unhindered movement of goods, people and capital.

Options:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is wrong.

(D) (A) is wrong, but (R) is true.
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9. T¥-1 1 Tt T9-11 @ hifST 3T 92t foehed o1 == hifvu |

W -1 wWy - 11
(arg) (EHE))
1. IR a. HIFAT

II. 37g b.  TATEL

II1.  3refcsh c.  digETEe

IV. et d. ®Ewee
forepem

I I I IV
A b d c a
B) d c b a
C) a b d c
D) ¢ d b a

10. Tr=fciRed # & are HIgEl’ w1 Yo fohe fopam ?
(A) wEel et
(B) awrss f3iq
(C) ST THATET T
(D) =g
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9. Match Column-I with Column-II and choose the correct option.

Column-I Column-II
(Minerals) (Examples)
L Ferrous a. Coal
II.  Non-Ferrous b.  Granite

III. Non-Metallic c. Bauxite

IV. Energy d. Cobalt
Options:
I II 11 v
A b d c a
(B) d c b a
(©) a b d c
(D) c d b a

10. Who among the following published ‘Samvad Kaumudi’ ?
(A) Rashsundari Debi
(B) Tarabai Shinde
(C) Raja Rammohan Roy
(D) Ram Chaddha
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11. TrafaRaa & & wH -1 S 31 J g1 1 I LT 7 3R 01 gunedt s ffa sar g 2
(A) U A¥ES Sh
(B) sfesmss
(C) R fid s
(D) e e 31 sfea

12. Frefefaa @ @ fora smem w merfies, fdiees 3Tt qodae &= wrafermar e ¢
(A) TSTTR BT Srepfet
(B) Tiafafer s wehia
(C) EafHes <hl Wbl
(D) 31 <k Sihfet

13. feutu v & fomr i ufeu | feu o foepedt O @ =/ T <l wg=™ il

(A) 362255
(B) 110002078
(C) 000313
(D) 16137926023

32/3/3/22/AABB1 Page 12 of 32




11. Which one of the following banks in India controls the issuance of
currency and regulates the credit system in the country ? 1

(A) Punjab National Bank
(B) Indian Bank

(C) Reserve Bank of India
(D) State Bank of India

12. Primary, Secondary and Tertiary sectors are divided in which one of the
following basis ? 1

(A) Nature of employment
(B) Nature of activities
(C) Nature of ownership

(D) Nature of income

13. Read the image of the cheque. Identify the cheque number from the given

options : 1
(A) 362255

(B) 110002078

(C) 000313

(D) 16137926023
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FrferRea s pae givaTia adenfit & o s aem 13 F MW R
FrafaRaa o @ % a1 W J /o1 1 MU= Fa 8 7

Q) f=

(B) €EHR

(C) &=

(D) frder

14. = €t 7€ arfetert o1 eTYEe e HIT 3 36k it few woa w1 s i |

| THA U A (WA WaSw | fova # ava fasem gaeth
SMTEh SeR H (2011 377 WifeT &) | (HDI) 1 36T (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134
frefaftaa et # 9 fopaent fova § wHa foehme F=ehieh 1 AT Gad 3T § ?
@A) @A B) wC
©) @D D) @ E

15. Tr=fciRed 5 & nerar U o foTe s -+t aftam qaiged | ¢
(A) 3fTaes T I TTER G
(B) 9Ta 9¥ 3TN ITH 31feh o AN § HI&R SHEEAT 3l 31T
(C) T & T Tl T dTct =l oh Het Tl
(D) T & § Thell hl 3TEd q&I

16. Tfciad H € -4 Tl 1 Teh He@qUl 98e] § ?
(A) &HH FEH
(B) wEToT qHH
(C) =T ISR 1 THeH
(D) TSR e T
32/3/3/22/AABB1 Page 14 of 32




14.

15.

16.

The following question is for Visually Impaired Candidates only
in lieu of Q. No. 13 :

Which of the following is the formal source of loan in India ? 1
(A) Friends

(B) Money-lenders

(C) Banks

(D) Relatives

Study the table given below carefully and answer the question that follows. 1
Country | Gross National Income (GNI) | HDI Rank in the
per capita (2011 PPP §) world (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134

Which of the following country has high Human Development Index Rank
in the world ?

(A) Country ‘A’ (B) Country ‘C’

(C) Country ‘D’ (D) Country ‘E’

Which one of the following definitions is most suitable for the ‘Literacy
Rate’ ? 1
(A) The literate population at the global level

(B) The proportion of literate population in the seven years and above

(C) The total number of children attending school in a region

(D) The average number of schools in a region

Which one of the following is a significant aspect of globalisation ? 1
(A) Uniform Culture

(B) Environmental Support

(C) Support to Domestic Market

(D) Access to New Markets
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17. w5 3T T & s el 1 gergm & fore frefofad 3 3 o5 frdier 2 2
(A) W for s
(B) YA ol HaT= =TT
(C) Wd =T Tgafa

(D) WA ST T

18. cArehdd % T # faeferfaa et 1 ufeu 3R @ fashen w61 = Hifs |
I. TRl § SHEAT AT
II. & AN g athR SHT
III. A TR T T BT
IV. 701 3R dqem Saen s
forepem
(A) 1,113 III
(B) IL III3WIV
(C) I,II3WIV

D) I, 13RIV
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17. Which of the following is responsible for resolving disputes between

Centre and States ? 1
(A) Finance Commission of India

(B) Supreme Court of India

(C) President of India

(D) Prime Minister of India

18. Read the following statements regarding democracy and choose the

correct option. 1

I.  Promotes equality among citizens

II. Government by few individuals

III. Protection of human rights

IV. Ensures checks and balance system

Options:

(A) T,1I and IIT

(B) 1IL III and IV

(C) I,IMand IV

(D) 1,1 and IV
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19. TSI g1 ST < Jfd SaTeca! v Hfvad sid & ¢ Fefafad § 9 9e8 suge

ferehed o1 T ST |
(A) U HIS3hE b AW Y
(B) W wifen gigw o mem &

(C) TRATCTRSH o HTeH o

(D) TS 3R TACIAIAT o THL % HTeT &

20. TmafciRaa Hemi 1 & -1 A TTaaenton s qed SugE auE © ¢
(A) TESI <RI e hi YfHehT g o foTT Sieafad e |
(B) T&i 9 ufeetaii st Sar sl sere & |
(C) TfEAT3Ti o foTq T e 3R TR gHfead e |
(D) @ft & | geui o SATeRR sl Tiftrd e |

q g - g (4x2=28)
(rfa erg -3 W)

21. Hioredl wd &% ALy H TR 3 59 YohR SR, T 3T 9HUsti sl @ 9 6 <9 o
el H gl shl ? ST HITT |

22. HYF Y foed wRiRT (I8, ) 1 o Avee fova o5& 9 fpg TR 3/ & 7

oy FHif |

23, ‘w < Torfa & wfgerati Y et -+t 5g W R |’ 30 FHem i gwg Hifs |
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19.

20.

21.

22.

23.

How do Political Parties ensure accountability to the public ? Choose the

most suitable option from the following. 1
(A) Through Press Conferences

(B) Through Social Media Campaigns

(C) Through encouraging Partisanship

(D) Through Elections and Voter Support

Which one of the following statements, best describes women empowerment ? 1
(A) Encouraging men to take leadership roles.

(B) Promoting superiority of women over men.

(C) Ensuring equal opportunities and rights for women.

(D) Limiting the rights of men in all spheres.

SECTION - B (4 x2=218)
(Very Short Answer Type Questions)

How did Europeans help in the expansion of trade, knowledge and
customs across European countries during mid-sixteenth century ?

Explain. 2

How does the United Nations Development Program’s (UNDP’s)

developmental criterion differ from the World Bank ? Explain. 2

“Role of women is gradually enhancing in the politics of the country.”

Examine the statement. 2
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24.

25.

26.

217.

28.

29.

(a) o7 feientor < T b 51 i o foTT 1 g1 adiehi <l ST |
Frean

(b) TETLAT o TE o {1 Feheal G1 AIhT o1 GoATal GIIT |

T ug -7 (5 x 3=15)
(eTg -3t I )

“gT Trenfiehl 3R gerereiieh ITNT o HEeaqUl YNTE o HRUT WA shi forehra ufsham 8§
TiEd 3T 2 |7 39 YA i ISTEN Hied T8 HIT |

(a) STH o wehteRtoT Shi Tfskan ot ferwersor Shifs |

AYAT

(b) AT o THIHT hl Ufshar =1 fagarwur SHifv |

T Ifaeh gl o fepal i shrit shT SuH shifvTT |

TTHIOT TS W T TERIaT Sgl shi YRt s e Hif |

T o forehT® | ATk &1 shi YHehT ! 9@ HIT |
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24. (a) Suggest any two ways to solve the problem of land degradation. 2

OR
(b) Suggest any two ways for the conservation of resources. 2
SECTION - C (5 x3=15)

(Short Answer Type Questions)

25. “The development process of India has experienced transformation due to

the significant influence of Information Technology (I.T.) and Electronic

Industry.” Explain the statement with examples. 3

26. (a) Analyse the process of German Unification. 3
OR

(b) Analyse the process of Italian Unification. 3

27. Describe any three functions of the Political Parties. 3

28. Explain the role of ‘Self Help Groups’ in the rural society. 3

29. Examine the role of Public Sector in the development of the country. 3
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QU - ¥ (4 x 5=20)
(-3 T 7H)

30. (a) “amrierh fafawarst @ amere deds Sl e foRivar & |7 39 %Y il WRd
Teyl I e $ifu |

AT

(b) “TAohad Ush ST, TR 3T 3¢ MEA 8 |7 39 e i ST hilvy |

31. (a) oY IcdTE U ghg GHTTEd ot o ot TR G fohT 11T UM <h! SATEAT HITT |
I UE]

(b) =T T Wt & Totu Iugerd wimiferes aftfexfem <t smen i |

32. (a) “UHt 9ga AR} WiERiae FisRATd off, foeh T WA TFaTE AR %1 SheddT 3R
Teet—Temm W o1 7= |7 39 HoF 6l g Higd SReT i |
e
(b) HfITT 3T JGIeH | FHN o i Tg fohe TR w1t & 7 Igrewon |fed
WY HIT |

33. (a) 1991 % ¥Tc ¥ WA o IR T T YT hl TG HiIfST |
3AYAT
(b) WA T SYTohT0T sl BHT ST dTct ShIeh] ohl T <hHITT |
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SECTION - D (4 x 5=20)
(Long Answer Type Questions)

30. (a) “Accommodation of social diversity is the key feature of democracy.”

Explain the statement in the Indian context. 5
OR

(b) “Democracy 1s an accountable, responsive and legitimate

government.” Explain the statement. 5

31. (a) Explain the initiative taken by the government to ensure the

increase in agricultural production. 5
OR
(b) Explain the geographical conditions required for the growth of tea. 5

32. (a) “There were variety of cultural processes through which Indian

Nationalism captured people’s imagination.” Explain the statement

with examples. 5
OR
(b)) How were the various social groups involved in the Civil
Disobedience Movement ? Explain with examples. 5
33. (a) Examine the transformations observed in India’s trade since 1991. 5
OR
(b) Examine the factors that have enabled globalization in India. 5
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g -§ (3x4=12)
(hE- TR T9)
34. Tfafaa gia =1 ufeu 3R 3T = feu 7w e o 3 fefiaw
ufer Ui % guge-fafae oik geiw snfaat i wufa
e sl o |fedt guaT ST favame 7, Rt smar wehfd % & w7 Y W s
21 38 fovamt 3 faftm ot B ot v el w9 § s T B, R ufes vt %
P (SEh-2aaratt & o) HEa & | T H T A F 9 q S b W w W A v
ST & TEa a7 8 R 3T = Sevre @ |
S TN $O R IS H g5 F@ § 3 SnieHer F I S0 B A R F |
BITFAPTR & § T 3R G ST HEST 3R HEq b YSH <hl YTl i & | Sfem
3R forgR ht STl M6 & GRH F9ert 3T 3T o U hl g1 il ¢ | g7 & §ga d
e et 3 dege I ufeA AFA & |
TR TS | 31h1 Teepierdl & IR T FEhia N Wopfer M 3oeht it bt sl
F H AU IRINE b § | AHAR T FRAL, TS =Nfea, USi 3N 9yt -y ufe
TR STehT TREVT AT ST & | 31TT 3 i o U St 3R TR I | SUTEeh
3% Rgetma-fuema € it wfer & wadt @ e § | T 3 forgeig il & sma-vm 3y
et fewor, T, ierTrr SR HRi % 38 <@ Tohd & Sl 98 o HgeH ol A= faen §
3R RIS IR THAM &l g |
(34.1) e Ui o LHE, ehid shi ST 3hi HIIAT & HH FEld & ?
(34.2) THEH, UL oI 310} HEhfcrl H ford Teh SMTet hid & ? IeTetoT Tfed THEsy |
(34.3) 3 WiEapldieh Teal shi SATEAT T 1 Fehfet % T TEied W AMEH 2 & |

35. Trefafaa dia = afey it sue fie fog e gei w1 3o forflew
EEIRGIRIED

“TrETeHT e o TOHT <l IR A 3N I wieem Fafarstt $ sufidl = g
H & U 8 TSRIGl bl ATRR ¢ il TLd & | TRt TS 8 JrEdfash Tvehas
AT 3T & | I G139 <l o g1t # Gigan & Rees g # 38 21 =1 | yeerR
B IR TE S FIAAT I TH T Teh IUTT Y=l ol SR &1 i 8 | 5§
Terepra <Y Ao Bl SR 3R AR HE A S o wrfigr B dt $7 eI WS
o s | 3Ed v fehforEt Bt wen foRE ST EeRT | 38 YRR YRt TSt ek
i <t AsTe oT |”
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34.

35.
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SECTION - E (3x4=12)

(Case Based Questions)
Read the following source and answer the questions that follow :

Sacred Groves — A wealth of diverse and rare species

Nature worship is an age old tribal belief based on the premise that
all creations of nature have to be protected. Such beliefs have
preserved several virgin forests in pristine form called Sacred
Groves (the forests of God and Goddesses). These patches of forest
or parts of large forests have been left untouched by the local
people and any interference with them is banned.

Certain societies revere a particular tree which they have
preserved from time immemorial. The Mundas and the Santhal of
Chota Nagpur region worship mahua (Bassia latifolia) and
kadamba (Anthocaphalus cadamba) trees, and the tribals of
Odisha and Bihar worship the tamarind (Tamarindus indica) and
mango (mangifera indica) trees during weddings. To many of us,
peepal and banyan trees are considered sacred.

Indian society comprises several cultures, each with its own set of
traditional methods of conserving nature and its creations.
Sacred qualities are often ascribed to springs, mountain peaks,
plants and animals which are closely protected. You will find
troops of macaques and langurs around many temples. They are
fed daily and treated as a part of temple devotees. In and around
Bishnoi villages in Rajasthan, herds of blackbuck, (chinkara),
nilgai and peacocks can be seen as an integral part of the
community and nobody harms them.

(34.1) How does sacred groves relate to the belief in nature worship ?

(34.2) How do communities incorporate trees into their cultural practices ?
Explain with example.

(34.3) Explain the cultural values that contribute to the coexistence of nature.

Read the following source and answer the questions that follow :

Panchayati Raj

“We need to give more power to the panchayats to realise the
dream of Mahatma Gandhi and the hopes of the makers of our
Constitution, Panchayati Raj establishes true democracy. It
restores power to the only place where power belongs in a
democracy - in the hands of the people. Giving power to
Panchayats is also a way to reduce corruption and increase
administrative efficiency. When people participate in the
planning and implementation of developmental schemes, they
would naturally exercise greater control over these schemes. This
would eliminate the corrupt middlemen. Thus, Panchayati Raj
will strengthen the foundations of our democracy.”

Y



36.

(35.1) UG ST VTfeRT ST TETeHT et o gvehio & h Trfa & 2
(35.2) =TIl bl Ve < o TTATHeh 32T ! TIE HIFTT |
(35.3) U TS 91 T Al § 8 ARTEH odt & ? T HIRAT |

Frerfariaa g =1 ufeu 3t soes = fer e ww1 o 3o ferftau
AGER FT ?

QAT & HEUTS 1 P e AUt w1 T AEeR et 9rgd |, e s
feeraredt it o IuAh @ w e e g9 | 39E greSe IuAfiar, a9
HYU & HeArar Wrep-Toran, wifewsht, Fmmansti, qu & fafv= fewdi & s |
ATAR T, IR TFhT T @HAR T IS ivt... TH THH A0 & Aeg AR
T 7 TIEET 8, St 9 & TR 3R FHhed & 5586 & |

Fitq SHHTE UG FIRF, 6 71, 1849

QE! AR AR TSHTaw qwTeTt i ot s gl 8, STt 37l & g8H 3NH
Hiag o faueg ) gt 8 | I T o8 axetd Aifet Y areATens aia W,
AT & faq arem # srem et 1 frebrel 3t gam &L, a9 3t Ol @ Ar se
1 %M B |

3 WIS i I17RT T 3 3 & @ [EI T AHT @ hl AT AT B AR F=T
A9T 3R TS GUR 8, 98 SqTd, 37 AT BT HThT TG & |

Afeq sifafaa, 3 sde, 1870

(36.1) TUST WV h TR JehI¥Td hid o T TUMS T TATId T fieh 329 ol
Tergeiwor hifs |

(36.2) iFSl ITUTH I GoFehl &1 o SHheATUl Sl FGMET o H AR i YfHeh! T HIl
SR e 2

(36.3) <M THER-TT =l -4t gz foreriat gt w8 7 feredl <1 o1 Soor@ it |

32/3/3/22/AABB1 Page 26 of 32

1

2



(35.1) How does giving power to Panchayats relate to the vision of
Mahatma Gandhi ?

(35.2) Explain the primary objective of giving power to the Panchayats.

(35.3) How does the establishment of Panchayati Raj contribute to
democracy ? Explain. 2

36. Read the following source and answer the questions that follow : 4
Why Newspapers ?
‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to
publish a Newspaper in the Marathi Language with a view of
affording useful information on every topic of local interest. It
will be open for free discussion on subjects of general utility,
scientific investigation and the speculations connected with the
antiquities, statistics, curiosities, history and geography of the
country and of the Deccan especially... the patronage and support
of all interested in the diffusion of knowledge and welfare of the
people is earnestly solicited.’
Bombay Telegraph and Courier, 6 January, 1849
‘The task of the native newspapers and political associations is
identical to the role of the Opposition in the House of Commons in
Parliament in England. That is of critically examining
government policy to suggest improvements, by removing those
parts that will not be to the benefit of the people, and also by
ensuring speedy implementation.
These associations ought to carefully study the particular issues,
gather diverse relevant information on the nation as well as on
what are the possible and desirable improvements, and this will
surely earn it considerable influence.’
Native Opinion, 3 April, 1870
(36.1) Analyse the primary objective proposed by Ranade for publishing
Marathi Language newspaper. 1
(36.2) Why did the Bombay Telegraph emphasize the role of newspaper
in promoting welfare of Deccan region ? 1
(36.3) What were the key responsibilities attributed to native
newspapers ? Mention any two. 2
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@ ug -9 (2 +3=05)

(WA= ST 3% )

37. (a) Teu U wRd % UoFifes WET-amiE W wH (A) 31 (B) % ®9 § <9t 7§ |

fafafga Sl i TR ¥ 3= Yg=T 3R 3% T8l A 3% e Wik 18
@3l W fafen 2x1=2
() I8 T &l AferataTett 9T 6 e =ied & | 1
(i) o8 T &l YR TP HI <1 MM 1927 H 53T | 1

(b) WA % & Torifeen Y@r-arfes W ffafga 3 @ fadi & = sugee gl @
TuITEd 37N 3 1 forfiam 3x1=3
() YTES AN — S 1
(i) UET — ARSI TENTTeh! UTeh 1
(iii) TRIYT — TETY] Sl T 1
(iv) efeean —agg oo 1
e ;. Frfofaa e hae giaTiem qhEmRi & foe e se 37 S MW F | 5x1=5

Tepei o AT & I ferfam |

(37.1) 3T TST &1 9 TARGT & ST TaTedt 1T shi T2 89l | 1
(37.2) 3 TIM 1 A TIRGT &l WA T I 1 SATLEIH 1927 H 53T | 1
(37.3) 38 U= o1 9 forfigu S8t wree-mme sty fea 2 | 1
(37.4) 3| TST 1 T foIRaw &t arIgR waTy] Soft o fra 8 | 1
(37.5) TSI TR Freifieh areh fohd TS 1 fedra @ 7 1
(37.6) 38 U= o1 4 forfaw &t afcean aggl vam feua 2 | 1

32/3/3/22/AABB1 Page 28 of 32




37. (a)

(b)

Note :

SECTION - F (2 +3=5)
(Map Based Questions)

Two places (A) and (B) have been marked on the given political
outline map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near
them : 2x1=2
(1) The place where Jallianwala Bagh Massacre took place. 1

(i1) The place where the session of Indian National Congress was
held in 1927. 1

On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Bhakra Nangal — Dam 1
(i1) Noida — Software Technology Park 1
(111) Tarapur — Nuclear Power Plant 1
(iv) Haldia — Sea Port 1

The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 37. 5x1=5

Attempt any five questions.

(37.1) Name the state where Jallianwala Bagh incident took place. 1

(37.2) Name the state where the Indian National Congress Session was

(37.3) Name the state where Bhakra Nangal dam is located.

(37.4) Name the state where Tarapur Nuclear Power Plant is located.
(37.5) In which state is the Noida Software Technology Park located ?
(37.6) Name the state where Haldia Sea Port is located.

held in 1927.

e O T Y
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